INSTALLATION NOTES

EDGE ON

For Bourgault 3310 & 3320 Edge on shank:
«3/8” X 21/4” Grade 8 Carriage Bolts, 960-CRG-3755

« 3/8” Stover Lock Nut, 906-NPT-3755

» For the 680-ASY-4020 use spacer plate 680-ACC-0003
» For the 680-ASY-4026 use the 680-ACC-0002

For Morris Maxim:
«3/8” X 21/4” Grade 8 Carriage Bolts, 960-CRG-3755
« 3/8” Stover Lock Nut, 906-NPT-3755

For Concord:

« Spacer Plate, 580-ACC-0001

+1/2"” X 2" Grade 8 Hex bolt, 946-HRG-2005
« 1/2”" Stover Lock Nut, 906-NPT-5005

Note for Bourgault Owners:

When Installing any Edge-0On Paired Row opener on the
Bourgault 3310 & 3320 always use the top and bottom notches of
the shank, as shown below.

Double
Shoot
© .
[ #
ﬁ o

Eh/



